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Series of exercies 4: Real-valued functions

Exercise 1:
1le Show using the definition of the limit at a point that
lim3x 4 3 = 6; ]im2w_3=—3; limi=+oo. lim 22+ 24+ 1=+
x—1 z—03x + 1 z—012 x—400
2eDoes the function f(z) = cos% have a limit at zop = 07 Justify your answer.
Exercise 2:

Calculate the following limits
2 _ 2

l)limu 2) lim cos (az) — cos (bw); 3) lim x? (1 — cos 1) ; 4) lim E(ln (x))

.z ) z—1\" , x 1

Exercise 3:
Study the contim?lity of the following functions:
Sz =2 x>1 [ ansin(L), z#£1
.f(x)_{ cos2(x—1), z <1. *g(x) = { 0, (m) z = 0. neN.
Exercise 4:
Find the values of o and 3 so that the functions f and g are continuous on R and h(z)
continues at 0.

f<x)_{3-(1$2, lea g([l?)— 1 , ZUZO,
14+
vit+zx—1
h($) _ T, T € [—1,0[U]0,+OO[
Q, z = 0.

Exercise 5:
Do the following functions admit an extension by continuity at 07 if yes give its extension
on Dy U {0}

T
£y =2 g
Exercise 6:

I-Show that the following equations admit at least one real solution
1) 1+sinz—22=0. on [0,n]

2) 22 —32-3=0 on[2,3]
IT- Show that x +— y/x is uniformly continuous on R*.

1 —rcosy/|z|

() = (x — 1)sin(x)

212 — 2

]



Version Francaise
Exercice 1:
leMontrer en utilisant la définition de la limite en un point que :
2z — 3
lim3 3 =6; li =
xl—>Inl z+ ’ :cli% 3r+1
2e La fonction f(z) = cos% posséde t-elle une limite au voisinage du zéro?

Justifier votre réponse.

1
—3; lim— =4o00. lim 22+z+1=+00

x—0 $2 r——400

Exercice 2:

Calculer les limites suivantes :

2 2 o b
1)limu' 2) lim — (az) = cos ( :c); 3) lim 2?2 (1—cosi); 4) lim E(lnix))

«73—>G{173 — CL3 ! x—0 $2 Tr——00 T Tr——+00

.|z =3l . z—1\" .z [ 1
5):?5% x—3’ G)xETm x+1/) 7)3611&100 2ln 1+:10

Exercice 3:

Etudier la continuité des fonctions suivantes :
5 — 2 " sin 1 #1
of(z) = 2 z21 og(z) =14 * <) " n € N.
cos(x—1), z<1. 0, r=0.

Exercice 4:
Trouver les valeurs de «v et 8 pour que les fonctions f et g soient continues sur R et h(x)

continue en 0.

z+1, x<1 O‘T—'_B’ z <0
f(x)_{?»—a$2, x>1" 9(w) = , x>0,
14+
vi+zrz—1
W)= 5 % € [-1,0[U]0, +o0]

a, z = 0.
Exercice 5:
Les fonctions suivantes admettent-elles une prolongement par continuité en 07 si oui
donner sa prolongement sur Dy U {0} :

|z
@ =2k gw) () =
Exercice 6:
I-Montrer que les équations suivantes admettents au moins une solutions réelle

_ 1 —cos || (z — 1) sin (x)

2r2 — 2

]

1) 1 +sinz —22=0. dans [0,7].

2) 22 — 3z — 3 = 0 dans [2, 3]
IT- Montrer que  +— +/Z est uniformément continue sur R*



